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REMEMBER, " RIGOR TO MATHEMETICIANS 1S WHAT MORKLITY 1S TO KEN"

1.(10pts) Prove that a +ar +ar® + ar® + ... = -& when |r| < L.
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2.(30pts) Use the divergence/convergence tests we developed in lecl';ure to prove
that the following series converge or diverge. Credit will be assigned according

fo the qualify of your answers. (Choose 3)
m . I3
4> E T:— L which is P=1 rsefies (cliverges }

L
(a) Loty we Compase
fel n=r

V.:“ -'ﬁr'\-ﬂ HM*’:{' camfanﬁ'jan 1&e,rf'

7 ((*"}T) = Jat T 0

N —> 59 (n ) Vs o
?ﬂ 1 T i
ﬂm’ 53, L}mfa‘{ Cpmp. 'f&ff e -}?ﬂaw < “-;1‘"? dtUE"%ﬁD

=
£E CoNO-L “é ;:‘ J;rdﬂgﬁo,
=




(h}zm e e a;wﬂohh(‘f series with b= J?n.{n)
7’,?.5;%.:-. 1’414;75 a’a '.“-*.{') for =1 and r:.w.?..r/a(sh M(Mg
Llot)) = L~ L8 L (1pi) < 0 #am g

N

fmm In (1) =0 u_rfieffa.r duln]l 20 Lr =D, 5 wn
}u\v'ﬁ -f"i‘!lj #l-! drlfnfu-'ﬁdl 15 ﬂ"e ?‘f”‘ - '&'ﬂ-:-.‘ = 6;.. I:in....uanﬁq,

h-::ﬂ (&') -_nfm (fﬂfﬂy ?—L“‘*""/E—) = O 7e ff,?g’ ¢

e a,ff‘e/noﬁrg series Fest, Thw ba are posfie decrein,,
and  haue ﬂmr ZEe€ro ab N—320 /- !Z{’—H Wnin) an@yj

[c,}§;—2= I+(—) ( +n- %Q_ﬂmer{”fic Celies

M=o

f
wih o=l 4 r=%= 228 <1 the it convecges,
Ao N T - - o we /p,rweaf ) @fﬁgwffa./,
\ = | =<4

by

@FE5  Simlest o M ot woe ¥ doum test

Jo (0 B R v

0 2
T}\Ervﬁ\r{ Ioa -EL —-}erm f'-f'JL z 3n-2 uﬂz'w

-




3.(30pts) Find the first three non-zero ferms in the power series expansion cen-
fered abouf zero (a = 0) for the following funciions:
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4.(20pts) Find the radius of convergence (R) and the inferval of covergence

(LO.C.) for the following power series.
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5.(10pts) Calculate the integral below. - Give fhe answer as a power series in
"slgma nofation”.
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